nasi= F[X_] = XN3 * EXp[SIN[X]]
ouas= eSin[X} X3

ner= D[F[X], X]

ouee 3 @3 NI x2 4 eSINIXT 3 Cos [x ]

npap= SIMPLIFY[D[F[X], {X, 3}]1]

oupa= @ ") (6+9x? Cos [x]%+x3 Cos [x]®-9x*Sin[x] -x Cos[x] (-18+x*+3x*Sin[x]))

npzr= Expand[ (a + b) ~13]

oupiz- a¥ +13a® b +78al'h?+286a°b3 +715a%b* + 1287 a8 b®+ 1716 a’ b +
1716 a% b7 + 1287 a° b® + 715 a* b® + 286 a® b'® + 78 a? b + 13 a b'? + p13

npsi= Integrate[Sin[Xx], X]

ouis= —COS [X]

nper= Integrate[Sin[Xx], {X, 5, 7}]
ouiel= CoS [5] - Cos [7]

ni7:= Integrate[Cos[X"2], X]

T 2
out[17]= — Fresnel C[ — x}
2 7T

nizel= FresnelC[7.5]
ouyze= 0. 516018

nz7= N[FresnelC[75 /101, 200]

ourz7i= 0. 5160182501523363463415468169946884004023502840792999798783211591271344749088552-.
51168748306017585769451779797390715727730839210360381055450689074226970639597706-
54865906299157048495345150278164909233065

na21= Plot[FresnelC[x], {X, 0, 6}]

06

out[42]=

02+
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w0~ Plot3D[SIn[x +y~2], {x, -10, 10}, {y, -2, 2}]

out[30]=

in[31:= ContourPlot[Sin[x +y~2], {Xx, -10, 10}, {y, -2, 2}]

2

out[31]=

3= Apart[ (2 X+3) / ((XN2-1) * (2*X"2+6%xX+12))]
1 1 -6 -x

out[43]= - +

8 (-1+x) 16 (1+x) 16 (6+3x+x?)

naap= Integrate[ (2« X+3) / ((XN2-1) * (2*X™N2+6 %X +12)), X]

1 3+2X
T — [—6 V15 ArcTan[

}+20Log[1-x1 ~10Log[L+x] -5Log[6+3x +X?]
160 /15

1 1 -6-X
- + ,X]
(-1+x) 16 (1+X) 16 (6+3x+Xx?)

n471= Integrate [ 5

3+2X
_6+/15 ArcTan[
\/15

outj47} ——

160 }+20Log[-1+x]-10Log[1+x]-5Log[6+3x+x2]

nas= Integrate[l/Sqrt[l+x™(1/3)], X]
2

outas= — ) 1+ x%/3 (8—4X1/3+3X2/3)
5

nsa= Integrate[l/Sqrt[l+x™(1/3)1, {X, 1, 8}]

2
out[s3]= g (—7\/2_+12 \/3_>



